3UDFRZQLN 5RINiDG

/DVIRB

GUKDE = RJQD 6]F]HAQLDN %RIHQD 7\J

7\6]

3RGVIDZ\ PRGHRZDQLD Z
ICI\NX 80/ Gl KDE
= RTQD 6]FTHGQLDN

7N\

GUKDE = RTQD 6]FJHGQLDN %RTHQD $%

zZ %RTHQD $%
< .20387(52:-$% -03
a .2/
=
% 7\
]
o 3.)  6NiDG IHNVIX
% QDXNRZHJR Z VAVIHPIH
/D7H; Z GUKDE
= RTQD 6]F]HGQLDN
%RTHQD $%
.20387(52:% -03
&)1
=
n
7\ 7\
3RGVIDZ\ PRGHIRZDQID Z
a IC]\NX 80/ GU KDE 3.)  6NiDG IHNVIX
o - RTQD 6]F]HGQLDN QDXNRZHJR Z VAVIHPLH
x %RTHQD $% /D7H; Z GUKDE
T .20387(52:% -03 = RTQD 6]F]HGQLDN
./ %RTHQD $%
.20387(52:%$ -03
&)1
7\G] 7\G] 7\ 7\
3RGVIDZ\ PRGHIRZDQID Z 3RGVIDZ\ PRGHIRZDQID Z
IC]\NX 80/ GU KDE IC]\NX 80/ GU KDE 3RGVIDZ\ PRGHIRZDQLD Z 3RGVIDZ\ PRGHIRZDQLD Z
= RTQD 6]FJHGQLDN = RTQD 6]FJHGQLDN IC]1\NX 80/ GU KDE IC]1\NX 80/ GU KDE
%RTHQD $% %RTHQD $% = RTQD 6]F]HGQLDN = RTQD 6]F]HGQLDN
= .20387(52:-%$ -03 .20387(52:% =03 %RTHQD $% %RTHQD $%
T o2/ .2/ .20387(52:%$ =03 .20387(52:% =03
5 . .2/ ., .2/
[a] 7\
,’l“ 3RGVIDZ\ PRGHRZDQID Z IC]\NX 80/ ™N ™N
T8 GUKDE = RTQD 6]F]HGQLDN %RTHQD $%
-03,, =:- :-03,, =2 3RGVIDZ\ PRGHIRZDQLD Z 3RGVIDZ\ PRGHIRZDQLD Z
- IC]\NX 80/ GU KDE IC]\NX 80/ GUKDE = RTQD
= RTQD 6]F]HGQLDN 6]FTHGQLDN %RTHQD $%
%RTHQD $% .20387(52:% -03,,
.20387(52:%$ -03 /
4 ‘
7N\ 7\ 7\ 7\
3RGVIDZ\ PRGHIRZDQID Z IC]\NX 80/
SIIRINIP L VIUXNIXU\ SIIRUNIP L VIUXNIXU\ 3RGVIDZ\ PRGHIRZDQLD Z GUKDE = RTQD 6]F]HGQLDN %RTHQD $%
GDQ\FK Z GU KDE GDQ\FK Z Gl KDE IC]1\NX 80/ GU KDE .20387(52:-% -03,,
= = RTQD 6]F]HGQIDN = RTQD 6]F]HGQIDN = RTQD 6]F]HGQIDN /
T %RTHQD $% 03 %RTHQD $% 03 %RTHQD $%
o .,z .,z .20387(52:% =03 7\6] 7\G]
= /
U’) ]

3RGVIDZ\ PRGHIRZDQLD Z
IC]\NX 80/ Gl KDE

= RTQD 6]F]HGQIDN
%RTHQD $%
.20387(52:%$ -03
./

3RGVIDZ\ PRGHIRZDQLD Z
IC]\NX 80/ G KDE

= RTQD 6]FTHGQIDN
%RTHQD $%
.20387(52:-% -03
./




/DIRB
3UDFRZQLN 5RINiDG  GU KDE = RJQD 6]F]HFAQLDN %RIHQD 7\J

VRERWD

7\G]
SIIRUNIP\ L VIUXNIXI\ GDQ\FK Z GU
KDE = RTQD 6]F]HGQLDN %RTHQD $%
-03,= -

7\G]
$0JRU\WP~} LVWUXN‘NXU_\ GDQ\FK Z GU
KDE = RTQD 6]F]HGQLDN %RTHQD $%
-03,= ot

QLHG]LHOD

7\G]
SIIRUNIP\ L VIUXNIXI\ GDQ\FK Z GU
KDE = RTQD 6]F]HGQLDN %RTHQD $%
-03,= -

7\G]
$0JRU\WP~} LVWUXN‘NXU_\ GDQ\FK Z GU
KDE = RTQD 6]F]HGQLDN %RTHQD $%
03, = -

7\G]
SIIRUNIP\ L VILXNIX\ GDQ\FK Z GU
KDE = RTQD 6]F]HGQLDN %RTHQD $%
-03,= -

7\G]
$0JRU\WP~} LVWUXN‘NXU_\ GDQ\FK Z GU
KDE = RTQD 6]F]HGQLDN %RTHQD $%
-03,= ot




